RV?ZJJ%W:. ﬁﬁiﬁﬂ%ﬁﬁﬁm

orm reducer

BEXilMeSHSHERAD

Gelufu Machinery Equipment Manufacturing Co. Ltd



=P~ — EW/RBE/ BE/ BB

%2Far>>TERN B
PRODUCT INTRODUCTION

GELUFLUMTHEIR L RRESDQEHERT, BACSNESES, BRFSNBEN, LERSRM0cHNE, 2RINE
BEAE, AER(ISENNHE, RSXTHIBEREE. EHANHLEOEEEH.

FATS RIS REESEWA T, MEFLENDERAT, HAMATSUBAKIAF, BAFIMOTOVARIOATM
ﬂ%?lﬁn

The marketing positioning is getting the best suppliers of the transmission equipment industry.

Our aim is catch up with and surpass the low-cost products of Japan, the stability product of Germany, the advanced product
of America. As long as we continue to improve ourselves, we will get close to the ideal aim of high quality, low-cost, high efficiency.

Part of our products can directly take the place of the same type products of SEW company, Germany Flender Company,
Japanese Tsubaki Company and Italy Motovario Company.

g ik ™
4
R 5]k 14 & 08 0 il 0 8 BL
g ol | &5,
-4 & 4
T 7 50 858 B ol 083 % 4% 1) H. B&RSIbrdE 1Tk 4 58
b i ;E ™ N
4 o 4 4
SWL. JWihke 22 k1 THERHL WURHRLBE 4% 5 | HL o it BL
= i d ™\ ol N
< 4 < 4 b 4

LRI K5 1 BL ok BL P& 505 It 1A i ok i BL H & SI/K & 51414 1 e ok i BL




1

RV &R SRRt B 15/

RV Z I §8 6 & RO IR AT s 252 Fo 4 al il ot — LS F B . AR Q/IF01— 199945 E . 38 Jo 5 ] Z b e
Bt RESTE., FbbEdr=, w7 BE A AT AGET, SRR T E A R85, EH T8,
WE oy BEIY. BEEE. PIEE. kT, BTAHUWR SRS, AL ES R Y Bl mLE s A K
2k b S BBl — b i SR R

R MEER S, FHME, (BREESEESRE, BWAH, BukEfelr, REBEDK, Rk,
oA, ARCA AR A . b, HeE s S B s UM G, SN SR R E AR, MR,
anhE, ST,

W EMEE, M, bl >>o>>

2.1 B
NRVEY — 5 i A 850 T 0ol 2%
NMRVE! — 7§ AT 22 BT e 28
PCE! — 5 fil T S 1Ky 465 vl S A0 B T 0ol 2 288
PCRVE — PC+NRRVH &M 2%,
NRV+NMRVE! — 7§ A S 250000 A 0 o 1 28
NMRV+NMRVE! — 355 Ak 25 0 U020 6 44 i A e 25

2.2 GEHELE
FHPRAE®RE, RVEGESTHACHE.: WiFRM (E) | Wk (F) | 08 (TA) | WEM
EEREA (YS) | Wi H OIS (AB) WH (AS) | sy al Bm#ssm (PC)

2.3 g
(1) M EERRRA ., 25, 30, 40, 50, 63, 75. 90, 110, 130, 150, 185,
(2) WP wELSHREAE . 25730, 25740, 30740, 30750, 30/63, 40/75, 40,90, 50/110, 63/130,
63/150,
(3) PCRVHHIEAE: 063/40, 063/50, 063/63, 071/50, 071763, 071/75. 071790, 080/75.
080,90, 080,110, 080,130, 090/110, 090,/130,

2.4 feElt
B A : 5. 7.5, 10, 15, 20, 25, 30, 40, 50, 60, 70, 80, 100,

2.5 KRB

NMRV F 50 -40 AS PCRV071/75 —Y0.18(4P) —180 —V5 —F1—AB — 1
L B A&

F AB A [ i 4

PG 3 22

2RI

T ) 4 IR

(R T FL B S B b U
UL J5 B PO 2 75mm
A= B S AR 12071
LU PCHNMRVEH £ B g 10 5

GELUFU



TAEERELRA Fae & 4]

e
2
LA
oo |
, B
K

&

&

%

R
£
A

X
T e
':{f‘:ﬂ’: Ch
g
o, g Saeee
L -

ol

2
2

A
A\
A
/\
A

14

i

NMRYV e PR ASREEEEE %

A i 5K B v L £ 2K

LR R A

MRV RVEEHEEFRES TAEERELS ASigE8EEIE

GeELUFU




Jif >>>>>

RV & 5 R R &R

Mgt — ==

=< /NS

Erat M EAYINN

ASI BSI
BX
&
=
=
v
-
+
2 | vs
v
-
=
53
77
{i
B3

GELUFU." ...

EF ot #EMEAHWN—Od

GELUFU



5 YERES B >>>>>

GELUFU

Mo i n: | kwi | M2 | sf e ne | kwi | Mz | sf B | ne | kwi | Mz | sf
75 1867 009 4 | 28 75 [1867] 075 | 33 | 1.7 75 |1867| 4 | 180 | 1.3
10 | 140 | 009| 5 | 23 10 | 140 075 | 42 | 1.3 10 | 140 | 4 | 236 | 1.1
15 933 | 009| 7 | 16 15 | 933 075 | 58 | 1.0 15 | 933 | 4 | 342 | 09
20 | 70 | 009| 9 | 1.3 20 | 70 | 075 | 81 | 09 20 | 70 4 | 458 | 0.8
30 | 467 | 009| 12 | 1.0 25 | 56 | 055 | 71 | 1.0 25 | 56 3 | 420 | 08
25 | 40 | 35 | 009 15 | 09 50 | 30 | 46.7 | 055 | 81 | 1.0 90 | 30 | 467 | 3 | 479 | 09
50 | 28 | 006| 12 | 09 40 | 35 | 055 101 08 40 | 35 | 220 433 | 08
60 | 233 | 006| 14 | 07 50 | 28 | 037 80 | 09 50 | 28 | 220 | 492 | 06
60 | 233|037 89 | 08 60 | 233 | 150 | 424 | 08
80 | 175|025 | 72 | 09 80 | 175 | 110 | 365 | 08
100 | 14 | 018 | 60 | 09 100 | 14 | 075 | 302 | 09
B n | kwi | Mz | sf ®a | n | kwi | Mz | sf Ll ne | kwi | Mz | sf
75 (1867 018 | 7 | 1.9 75 |186.7 150 68 | 1.5 75 | 186.7| 7.50 | 345 | 14
10 140 018 | 9 | 15 10 | 140 | 150 88 | 1.2 10 | 140 | 7.50 | 455 | 1.1
16 (933|018 | 13 | 1.0 15 | 933 | 150 126 @ 09 15 | 933 | 550 | 484 | 1.2
o0 | 70 | 018 | 17 | 08 20 | 70 | 150 | 166 | 08 20 | 70 | 550 | 638 | 08
o5 | 56 018 | 21 | 1.0 25 | 56 | 110 | 146 | 0.9 25 | 56 | 550 | 790 | 08
30 3p | 46.7 | 0.18 | 24 0.8 63 30 467 | 1.10 | 167 1.0 110 30 | 46.7 4 647 0.9
a0 | 35 [042| 19 | 09 40 | 35 | 110 207 @ 07 40 | 35 | 3 | 638 | 09
5o | 28 [012] 23 | 08 50 | 28 |055%| 124 | 1.1 50 28 | 3 | 767 | 08
so | 233 |009| 19 | 09 60 | 233 055% 140 @ 09 60 | 233 | 220 | 648 | 08
g 175 | 006 | 14 | 09 80 | 175 | 037 | 115 | 1.1 80 | 175 | 1.50 | 548 | 08
100 | 14 | 037 | 129 @ 09 100 | 14 | 1.10 | 473 | 09
Fi = i nz kw Mz sf B 5 i ({1 K Mz sf a5 i n: kwi Mz sf
75 1867|037 | 16 | 16 75 |186.7| 4 | 182 | 1.0 75 | 186.7| 7.50 | 343 | 1.8
10 | 140 | 037 | 27 | 1.3 10 [ 140 | 3 | 180 | 1.1 10 | 140 | 750 | 453 | 15
15 | 933 | 037 | 28 | 09 15 |933| 3 | 261 | 08 15 | 933 | 750 | 664 | 1.1
20 | 70 | 037 | 39 | 1.0 20 | 70 | 220 | 240 | 08 20 | 70 | 750 | 864 | 0.8
25 | 56 | 037 | 47 | 08 25 | 56 | 150 | 205 | 1.0 25 | 56 | 7.50 | 1074 | 0.8
40 | 30 | 467 (037 | 53 | 08 75 | 30 | 467 | 220 | 337 | 07 130 | 30 | 46.7 | 550 | 900 | 1.1
40 35 0.25 | 44 09 40 a5 1.10 | 216 1.0 40 35 850 | 171 | 0.9
50 28 |022| 47 | 08 50 | 28 | 1.10 @ 264 | 0.8 50 | 28 | 550 1379 | 0.7
60 | 233 018 | 43 | 08 60 | 233 | 110 | 279 | 07 60 | 233 | 4 | 1179 | 0.8
80 | 175 012 | 34 | 1.0 80 | 175 | 055 | 180 | 1.0 80 | 175 | 220 | 816 | 1.0
100 | 14 | 012 | 38 | 08 100 | 14 | 055 | 206 | 0.9 100 | 14 | 220 | 966 | 0.8
| ne | kws | Mz | sf B 0 [ n [kw [ M [ of
75 (186.7| 15 | 690 | 1.7 75 [1867| 22 | 980 | 1.75
10 | 140 | 15 | 870 | 14 10 | 140 | 22 | 1320 | 1.35 i*-
15 | 933 | 11 | 945 | 1.25 15 | 933 | 185 1550 | 1.1 - M rom
20 | 70 | 11 | 1250 | 1.0 20 | 70 | 185 2140 | 1.0 Ne=8 56 E U rom
25 | 56 | 75 | 1040 | 1.1 25 | 56 | 11 | 1560 | 1.25
150 | 30 467 | 75 | 1200 | 09 185 | 30 |467 | 11 | 1760 1.3 kwi=@AZ® A N-m=f-K
40 | 35 | 75 | 1550 | 1.0 40 | 35 | 11 |2320 1.1 M2=4 it} 4 3
50 | 28 | 55 | 1400 | 1.0 50 | 28 | 7.5 |[1920 | 1.2 sf=TLiERH
60 | 233 | 4 | 1180 | 1.0 60 | 233 | 75 2210 1.0
80 175 | 3 | 1130 | 1.0 80 | 175 | 55 |2070 | 1.0
100 | 14 | 22 | 975 | 1.0 100 | 14 4 |1760 | 1.0




RV Z % @R &

TV TEESSSS

GELUFU .

o .. 4H8

b 11H8

" m 1T

ey

- o

RRAH ATTEAIL
BY | pume | N | M p 76|10 15|20|25|3;J|4{],ED|E{]|BD|100
25 56814 |50 65 80 9 |9 (9 9 -[oaal9ols i
6385 (o5 [15[ol M ([ nnn[n]n]- -
30 63814 | 60175980 N NN TN M| |1M|-]-]|-
56B14 |50  65/80 | 9 |9 | 9 |19 |9 /9 /99|99 -
i0 71B5 | 110 130160 | 14 [ 14 (14 [ 14 | 14 | 14 [ 14 | 14 |
6385 (o5 |msl1a0l ([l n
80B5 [130/165/200] 19 (19|19 [19[19[19[19] - [ - [ - | -
50 71B5 [ 110/130/160 | 14 |14 | 14 [ 14 [ 14 [ 14 [ 14 | 14 [ 14 | 14
6385 |95 [15[140] - [ - [ -T-[-T-TH[n#H[1n]n
90B35 | 130 165/200 24 |24 24 |24 |24 |24 (24| - | - | - | - H 1
63 80B5 130165 200|19 |19 19 [19 19 |19 (19 19 [19 | - | - i
7185 [110]130/160] - | - [ - [ - [ - [ - [14 14 [14]14 [ 14 ﬂr |
100/112B35/180/215/250| 23 | 28 |28 |28 | - |28 | - | - | - | - | - z| = a
75 90B35 [130/165/200| 24 |24 (24 [24 |24 |24 [24 (24 [24 | - | - — |
~ B0B5 130 165/200| - | - | - | - | - | - [19 /19 /1919 |19 |
100/112B35 180 215|250 | 28 | 28 28 | 28 | 28 | 28 |28 28 | - | - | - L iy
90 90B35 | 130 165 200 24 |24 (24 |24 |24 | 24 [ 24 | 24 [ 24 | 24 | L
BOB5 |130)1e5/200) - | - | - | - | - | - ]19[19 /19|19 ]19
132B35 [230/265/300[38 [38 (383838 - [ - [ - [ - [ -] -
110 |100/112B35 180 215 /250 28 | 28 28 |28 28 |28 |28 28 |28 | |
90B35 | 130/165/200 - | - | - | - |24 |24 |24 | 24 | 24 | 24 | 24
132B35 | 230 265/300| 38 (38 |38 |38 (38 (38 (38 (38| - | - | -
130 |100/112B35 180 215/250| - | - | - | - |28 |28 | 28 |28 | 28 | 28 | 28
80B35 [130)165/200, | | | | 24 | 24 | 24 | 24 | 24
160B35 | 250 300 350 |42 |42 42 |42 | | _
150 | 132B35 230 265/300 38 |38 38 |38 |38 |38 | 38 38| | |
100/112B35| 180 | 215/250 | 28 | 28 28 |28 28 | 28 |28 | 28 | 28 | 28 | 28
 180B35 | 250 300 350 | 48 | 48 | 48 |48 | | _
185 | 160B3S |250|300|350| 42 | 42 |42 |42 |42 42 |42 42| | |
132835 [230265 300/ 38 | 38 | 38 |38 | 38 | 38 |38 |38 | 38 | 38 | 38
100/112B35, 180 215 250 | 28 | 28 |28 |28 | 28 | 28 |28 28 [ 28 | 28 | 28
NMRV2545hE 1<)

GELUFU



il B i HE L

NMRYV 30-185

RV 130-185 - RV 30-110 KC ||
KB |
KA
&
- h_"__
i -l
= O
4D
LR ' | | |
— AC!D{H?]:E!F G‘H I | L | M|N®)| O | P | @|R|S | T |V ]|K
30 54 | 80 | 14 | 97 | 32 | 55 | 40 | 30 | 56 | 65 | 54 | 65 75 | 44 | 57 | 55 | 20 | 27 | 44
40 | 70 | 101 | 18 1215 43 | 70 | 50 | 40 | 71 | 75 | 60 | 65 | 87 | 55 |715| 65 | 23 | 35 | 60
50 80 1215 25 145 49 | 80 | 60 A 50 | 85 | 85 | 70 | 85 | 100 | 64 | 85 | 7 | 30 | 40 | 70
63 | 100 (1475 25 (174 67 | 95 | 72 | 63 | 103 | 95 | 80 | 85 | 110 | 80 | 102 | 8 | 40 | 50 | 85
75 120 | 174 | 28 | 205 @ 72 (1125 86 | 75 | 113 | 115 | 95 | 11 | 140 | 93 | 119 | 10 | 50 | 60 | 90
90 | 140 | 208 | 35 | 238 | 72 | 130 | 103 | 90 | 130 | 130 | 110 | 13 | 160 | 102 | 135 | 11 | 50 | 70 | 100
110 | 170 |2525| 42 | 204 | | 160 [127.5] 110 | 142 | 165 | 130 | 14 | 200 | 125 [1665| 15 | 60 | 85 | 115
130 | 200 |2925] 45 [ 335 | 79 | 180 [147.5] 130 | 155 | 215 [ 180 | 16 | 250 | 140 [187.5] 15 | 80 | 100 | 120
150 | 240 | 340 | 50 | 400 | | 210 [ 170 [ 150 [ 185 | 215 | 180 | 18 | 250 | 180 [ 230 | 18 | 80 | 120 | 145
185 | 310 | 412 | 60 | 472 248 | 207 | 185 | 220 | 265 | 230 | 22 | 300 | 213 | 265 | 25 | 80 | 155 | 175
H'-l-ﬁ% Gi | G2 | N1 | KA | KB | KC KE a | KM |KN(HB) KO | KP | KQ | d(8)| b |t | X | Y
30 | 63 | 51 | 29 |545| 6 | 4 |M6x11(nd)| 0° | 68 | 50 |6.5(4/90°)| 80 | 70 | 9 | 5 | 163 |
40 |78 |60 [365| 67 | 7 | 4 | MBx8(n4)  45° | 87 | 60 | 9(4/90°) | 110 | 95 | 11 | 6 | 20.8 | %
50 | 92 | 74 |435| 90 | 9 | 5 |M8x10(nd)| 45° | 90 | 70 |11(4/90°)| 125 | 110 | 14 | 8 |283| g
63 | 112 90 | 53 | 82 | 10 | 6 |M8x14(n8)| 45° | 150 | 115 | 11(4/90°)| 180 | 142 | 19 | 8 |283| #
75 | 120 (105 | 57 | 111 | 13 [ 6 |M8x14(n8) | 45° 165 | 130 |14(4/90°) 200 | 170 | 24 | 8 [31.3] %
90 | 140 | 125 | 67 | 111 | 13 | 6 |M10X18(n8) 45° | 175 | 152 | 14(4/90°)| 210 | 200 | 24 | 10 | 38.3 R
110 | 155 | 142 | 74 | 139 | 15 | 6 |M10X18(n8)| 45° | 220 | 170 | 14(8/90°)| 270 | 250 | 28 | 12 |453|
130 | 170 | 162 | 81 [1515 15 | 6 M12><2ﬂ|[n3]|:§ 45° | 255 | 180 | 16(8/45°)| 320 | 200 | 30 | 14 |488|
150 | 200 210 | 96 | 155 | 15 | 7 |M12x21(n8) 45° | 255 | 18 | 16(8/45°) 320 | 290 | 35 | 14 |538| =
185 | 240 | 240 | 116 | 190 | 22 | 7 |mM16x25n8) 45° | 350 | 280 | 22(8/45°)| 400 | 390 | 40 | 18 | 64.4

GELUFU




RVES RENHERERTE e

HL B HLAMIE ) — B &

HLR: 45 56 63 7" 80 90 100 112 132 160 180

h4(kw) | 0.06 | 0.09 | 012 |0.18 | 0.25 | 0.37 0.55‘0.?5 | 1.1 | 1.5 2.2 3 4 55 | 75 | 1 15 | 18.5 ‘ 22

X 150 207 225 245 260 | 285 320 340 | 395 | 435 | 490 | 535 | 560 |EDI‘J

b § 120 130 145 165 175 205 230 270 325 360

P 1/ R fo] i 214 B R <)

#We (DM6)| B | Bi e ||| f A SHpa) g 11 Rh

b
o B1 -
25 | 11 | 23 |255 | 81 | 101 | - 4 | 125 i
! b, )
30 | 14 | 30 | 325|102 | 128 | M6 | 5 | 18 ot
40 | 18 | 40 | 43 | 128 | 164 | M6 | 6 | 205
50 | 25 | 50 | 535 | 153 | 199 |M10 | 8 | 28
63 | 25 | 50 | 535 | 173 | 219 |M10 | 8 | 28
75 | 28 | 60 | 635 | 192 | 247 |M10 | 8 | 31

a0 35 80 84 | 234 | 308 | M12 | 10 38
10 | 42 80 | 845 | 249 | 324 M16 | 12 45

130 | 45 a0 | 85 | 265 | 340 | M1B6 | 14 | 485

150 | 50 102 | 110 | 324 | 420 | M20 | 14 | 535

185 | 60 112 | 120 | 374 | 480 | M20 | 18 64

AE {ej s 4 il <1

e | B |dg) | T | b t

30 | 45 | 9 | 20 | 3 | 105

40 | 53 | 11 | 23 | 4 | 125

50 | 64 | 14 | 30 | 5 | 16

63 | 75 | 19 | 40 | 6 | 215
75 | 90 | 24 | 50 | 8 | 27

% |[108 | 24 | s0 | 8 | 27

10 [ 135 | 28 | 60 | 8 | 31

130 | 155 | 30 | 80 | 8 33

150 | 210 | 35 | 80 | 10 | 38

185 | 240 | 40 | 80 | 12 | 43

5 R

we| A|B | c |[D|E|F |6 ]|H]|I
25 | 70 | 33 | 118 | 45 | 55 | 7 | 14 | 8 | 6
30 [ 85 38 [138 | 54 | 65 | 7 | 14 | 8 | 6
40 | 100 | 44 | 162 | 60 | 75 | 7 | 14 | 10 | 12
50 (100 | 50 [168 | 70 | 85 | 9 | 14 | 10 | 12
63 | 150 | 55 | 223 | 80 | 95 | 9 | 14 | 10 | 12
75 | 200 | 70 | 300 | 95 115 9 | 25 | 20 | 20

110 | 250 | 100 [ 385 [ 130 | 165 | 11 | 30 [ 25 | 25
130 | 250 | 125 | 410 | 180 | 215 | 14 | 30 | 25 | 25
150 | 250 | 125 (410 | 180 1 215 [ 14 | 30 | 25 | 25

185 | 300 | 150 | 495 | 230 | 265 | 18 | 30 | 25 | 25

90 | 200 80 | 310 | 110 | 130 | 11 | 25 | 20 | 20
|

GELUFU [155]



" EELUFL

EX{EN (M)RV+NMRVZ 3 R~
NRV+NMRV
'-iK---—l- J -—
|
)
= 51 -
K i‘_
i
| b1 [=] [=]
e L & &
X o SO (e
R
— ==
IO ’
— )= S|l 1o
1 |
_,E&d ‘ '
= L= T
W= .
b N -
|| o o
O .
v _Hi L Hi
o L1 -—
NMRV : ! I [ I
+NMRV | A |A1| B | C | Ci |DH7)|D:i(6)|E(h8)| F |G |H | Hi|H || |J|K|L|L|M|M|N|N|O|O|P
030/040 | 100 | 80 [121.5 70 | 60 (18(19)] 9 | 60 | 43|71 |75(365/ 29 |55 |51 (20 (120 78 | 50 (40 715| 57 |40 | 30 | &7
030050 | 120 | 80 | 144 B0 | 70 '25{24} 9 70 | 49|85 | B85 43529 55 |51 |20 (130 92 | 60 40 & '5?|5£I 30 100
030/063 @ 144 | 80 | 174 100 | B85 '25{233 g 80 | B7|103| 95| 53|29 |55 |51 (20 (145 /112| 72 | 40 102_5?|63 30 110
0401075 | 172 [100| 205 [120 | 90 |28(35)| 11 | 95 | 72112115 57 |365/70 60 |23 165 120 86 |50 119 |715/75 | 40 140
040/090 | 206 [100| 238 (140 |100|35(38) 11 | 110 74 130130 67 |365 70 | 60 |23 |132 140|103 | 50 | 135 71.590 | 40 |160
050/110 252.5/120| 295 (170 | 115 42 | 14 | 130  — 144|165 74 |435/80 |74 |30 225 155/127.5 60 167.5 84 110 50 1200
063/130 292.5(144 | 335 200 12EJ§ 45 19 | 180 | — 1555215 81| 563 :95 90 | 40 |245 1?13512?.55 72 1875 102[130 | 63 250
Ny |Q | R|S [T |V |[PA| PBIPC PE PM(PNHE) PO |PP|PQ| a |as| b |b t | t| m|kg
030/040 |55 65 26 6.5_35 67| 7| 4 Mﬁus{n=4}_‘a’5_ 60 | 8(n=4) 110 110| 45' | 45° 6(6) 3 20.8{21.8) 10.2| — 39
030/050 |64 B85 30 40 190 8| 5 | M8 = 10(n=4) 35: 70 11(n=4) 125 110:45‘ 45 | B(B) | 3 (2B.3(27.3)(10.2)] — | 5.0
030/063 |80 |85 36 |8 |50 | 82| 10| 6 | M8« 10(n=4)|150| 115 |11(n=4) 180|142| 45' | 45° | 8(8) 3 28.3(31.3) 102 — | 7.8
040/075 (93 | 11 (40 (10 |60 111 13 6 M8114{n=81_‘165j 130 |14(n=4) 200 170| 45" | 45" 10(10) 4 ' 31.3(38.3) 12.5 — 12.0
040/090 1102 | 13 [45 |11 [70 111 13| 6 | M8 x14(n=8) 175| 152 |14(n=4) 210|200 45 |45 10(10) 4 38.3(41.3) 125 — 16.0
050/110 125 14 50 (14 |B5 (131 15 6 .M1Dx1E{n=E]:230. 170 |14{n=4) 280 260 | 45" |45 | 12 | & 45.3 16.0) M& 392
063/130 [140 16 60 |15 [100 140| 15 6 M12x21(n=8) 255 180 16(n=8) 320 290|45 225| 14 6 488  21.5 M6 55.0

. Wi (kg) AEFRHLE KA

GELUFU




GELUFU.Y...

EAN(M)RVENMRVI$EES &
KW | NMRV+NMRV 1| nz(r/min) | Ma(N-M) | i iz KW | NMRVENMRV | i | nar/min) | Mz(N.M) | i1 | B
030/040 | 300 | 47 68.7 10 30 0400075 | 750 | 19 | 5504 | 25 | 30
' 030/040 | 400 | 35 9.7 | 10 | 40 040/030 | 900 | 16 | 5997 | 30 | 30
030040 | 500 | 28 | 1016 | 20 | 25 | |qigqy | 040090 | 1200 | 12 | 7608 | 30 | 40
030/040 | 600 | 2.3 1115 | 20 | 30 . 040/090 | 1500 | 09 903.7 | 30 | 50
030/040 | 750 19 | 1450 | 25 30 050/110 | 1800 | 0.8 | 9323 | 60 | 30
030/040 i_é;;_'_;};'f'%'é's'_ﬁ_'_55'_']_'56'_' | 050110 | 2400 | 06 | 12164 | 60 | 40
030/040 | 174.7 a0 | 30 040/075 | 300 | 47 | 3476 | 10 | 30
030/040 ! . o 218.8 a0 | 40 040/075 400 | a5 4406 10 40
030/050 I | 2271.0 30 J 40 040/075 | 500 | 28 | 5501 | 10 50
030/040 | 2349 | 50 | 30 040/090 | 600 23 639.1 | 15 | 40
| 030050 | 1500 | 09 | 2475 | 50 | 30 | [oogay | 0400080 | 750 | 19 | 7907 | 15 | 50
0.06KW | 030/063 ! 270.2 30 50 040/0390 l 800 | 1.6 900.6 15 60
030/040 | | 2586 | 60 | 30 050110 | 1200 | 1.2 | 1129.0 | 30 | 40
030/050 | 1800 | 0.8 2723 | 60 | 20 050110 | 1500 | 0.9 | 12859 | S50 | 30
030/063 | | 2806 | 30 | 60 050/110 | 1800 | 08 | 12949 | 60 | 30
030/040 | | 3412 | 60 | 40 063130 | 2400 | 06 | 1820.3 | 60 | 40
. 030/050 !2400 g | 353.9 60 | 40 0637130 . 3000 | 0.5 22141 60 50
| 0300063 | © | 3657 |60 | 40 DS e | ap poREL Lo
0400075 | | 3887 | 60 | 40 0400090 | | © | 4993 | 75 | 40
030/040 | | 3856 | 60 | 50 D40/090 | 400 | 35 | 6479 | 10 | 40
| 0300050 | so00 | 05 3048 | 60 50 4a/0e0 500 | 28 /a7 | 0 | &
030/063 . | 4214 &0 ] 50 037KW 040/090 | 600 | 23 | 9325 | 15 | 40
040/075 ! 485.3 60 | 50 050110 | 750 | 19 | M57.2 | 25 | 30
030/040 | 3200/ 04 169.2 80 | 40 050/110 | 900 | 1.6 | 12806 & 30 | 30
030040 | 300| 47 | 1031 |10 | 30 063130 | 1200 | 12 | 17412 | 40 | 30
030/050 | 400| 35 1411 | 10 | 40 063/130 | 1500 | 08 | 20062 | S5O | 30
. 030/050 | 500| 28 | 1613 | 10 | 50 063/130 | 1800 | 08 | 20828 | 60 | 30
030/050 | 600 | 23 1762 | 20 | 30 050M10 | 300 | 47 | 7604 | 10 | 30
| 030/0s0 | 750 | 19 | 2201 |25 | 30 050110 | 400 | 35 | 9921 | 10 | 40
0.09KW| 030/063 | 900 | 16 | 2727 | 30 | 30 | |negey | 050110 | 500 | 28 12273 | 10 | S0
030/063 | 1200| 1.2 351.8 30 ] 40 050110 | 600 | 23 | 14113 | 15 | 40
040/075 | 1500, 09 | 4505 | 50 | 30 0501110 | 750 19 | 17202 | 25 | 30
0400075 | 1800] 08 | 4600 | 60 | 30 0631130 | 1200 | 1.6 | 25950 | 30 | 40
040/090 | 2400 06 5793 | 60 | 40 050110 | 300 | 47 10369 | 10 | 30
040/090 | 3000, 05 6882 | 60 | 50 050/110 | 400 | 35 | 13529 | 10 @ 40
0301050 | 300| 47 | 1447 | 10 | 30 | |gogqy| 069/130 | 500 | 28 | 16867 | 10 | 50
030/050 | 400| 35 | 1881 | 10 | 40 Ooafia0 | 600 | 28 [19845 | 15 | 40
030/063 | 500 | 28 | 2239 | 10 | 50 063/130 | 750 | 19 | 24030 @ 25 | 30
030/063 | 600 | 2.3 2750 | 15 | 40 | | 063/130 | 900 | 1.6 | 27358 @ 30 | 30
030063 | 750 | 19 | 3168 | 15 | 50 s | 083130 | 300 | 47 | 15725 | 10 | 30
0.12Kw 040075 : 90| 16 | 4028 | 30 | 30 || | 083130 | 400 | 35 | 20339 | 10 | 40
030/063 | e i | 4601 a0 ] 40 15K 063/130 300 4.7 2144.3 10 30
40075 | | | 5105 |30 | 40
| 040/090 | 1500 0.9 6025 | 30 50
| DRWO040/090 | 1800| 08 | 6862 | 30 | 60
__DRWO40/080 | 2400) 06 | 7724 | 60 | 40
. DRWOS50/110 | 3000, 05 | 10032 | 60 | 50
. DRWO030/050 | 300 | 47 | 2171 | 10 | 30
o4gKky | DRWO30/063 | 400 | 35 | 2915 | 10 | 40
DRWO030/063 | 500 | 2.8 3359 | 10 | 50
DRW040/075 | 600 | 23 4726 | 20 | 30

GELUFU



PC % 31| 5 B #H& 5 RE R R

~ BELUFU

. P2

RV Z %l & 138 4] 155

i

PC

P2

P1

063

63B14/71B14

63B5

071

080

3.17

71B14/80B14

80B14/100B14

71B5

80B5

090

2.43

80B14/100B14

90B5

PCOT1

PCOB0

PCO090

=317

=3

i=2.43

71B14

80B14

BOB14

100B14

80B14

100B14

40

50

R R

-
(=]
=

63

o

80

EBEE8Y

—
o
=

E3888hK

-
=1
=

222880

-y
=1
(=]

| [ e | o | o o [ i U | [ | [ |

|
00 ®——-—-000000®—~———000

=== = = = = e = = == e e~~~ 000 e e e

2000000 PROROROS - 00000 ——-——-0#8

110

s88H

888

b
=]
L]

==|=|=|===" 8888

|

130

EB8888H

100

[ b~

'I.!I'.I.‘-—..'.l‘-—
el

it: @FRATREMALY, /FORARIFE AR,

GELUFU




PCRV{tfiE2% (n.=1400r/min)

KW PC+NMRV | i nz(rimin) | Me(N-M) | i1 | 2 KW PCRV063/130 | iz | ne(r/min) | Me(N-M) | i+ | iz
_PCRvO63/40 | 75 | 187 | 430 | 3 | 25 _PCRV063/130 | 80 | 156 | 2579 | 3 | 30 |
PCRV063/40 | 90 15.6 47.2 3 | 30 PCRV063/130 | 120 117 | 3203 | 3 | 40
PCRV063/40 | 120 | 1.7 | 623 3 | 40 PCRV063/130 | 120 | 117 | 3272 | 3 | 40
| PCRVO063/40 | . o3 | 704 3 | 50 PCRVOB3/130 | " 411.1 3 |50
PCRVO063/50 | | . 738 | 3 |50 PCRV063/130 | — 36886 | 3 | SO
PCRV083/40 | .. ,e |_718 3 | 60 0.55KW | PCRVOS3/130 | og | 4428 | 3 |60
0.12KW | PCRV063/50 74.5 3 | 60 PCRV063/130 ~ | 4676 | 3 | 60
PCRVO063/63 | | 957 | 3 |80 PCRV063/130 | .. g |27 | 3 |80
| PCRV063/40 | 240 58 | 989 3 | 80 PCRV083/130 ' 5819 | 3 | 80 |
PCRV0B3/50 | _ | 1049 | 3 | 80 PCRVO0B3/130 | , - 47 | 6714 | 3 100
PCRV063/63 | 1M.3 | 3 [100f | | PCRVOB3/130 | " | 7024 | 3 [100]
PCRV063/50 | 300 47 | 1127 | 3 100 PCRV063/130 | | 3084 | 3 | 25
PCRV063/63 | | | 1134 | 3 |100 PCRV083/130 | 75 187 | 3003 | 3 |25
PCRV063/40 | . gy |44 3 | 25 PCRV063/130 | | 3102 | 3 |25
PCRV063/50 | | | 674 3 |25 PCRV063/130 | | 3543 | 3 | 30
PCRV063/40 | o 56 |_709 3 [ 30 PCRV063/130 | 90 156 | 3517 | 3 | 30
PCRVO063/50 | _ | 746 3 | 30 PCRV063/130 | | 3468 | 3 | 30
PCRV063/40 | ., 7 285 .1y PCRV083/130 | . g7 (4481 1 3 |40
PCRV063/50 | ‘ | 97.0 3 | 40 0.75KW | PCRV063/130 | _ | 4525 | 3 |40
PCRV063/50 | .. o3 | 1109 | 3 |50 PCRVOB3/130 | o3 5300 | 3 |50
0.18KW | PCRVO083/63 | | | 1155 | 3 | 50 PCRV063/130 | | " | 5588 | 3 |80
PCRV063/50 | .o ,g M7 | 3 | 60 _PCRVO0B3/130 | s | 6036 | 3 |60
PCRV063/63 | | | 1199 | 3 | 60 PCRV063/130 | 1 | 6377 | 3 | 60
PCRV063/50 | ,,. sg | 1484 | 3 | 80 PCRVO0B3/130 | s | 8071 | 3 | 80
PCRV063/63 | _ | 1573 | 3 | 80 PCRV063/130 | _ | 7826 | 3 | 80
PCRV063/50 | .. 47 | 1690 | 3 |100 PCRV063/130 | 300 | 47 | 9579 | 3 | 100
PCRV063/63 | _ | 1701 | 3 | 100 PCRVOS3/130 | _, o | o, | 4104 242/ 30
PCRVO71/50 | oo | 47, | 990 347 25 PCRV063/130 | ™ T | #4155 |242] 30
PCRVO71063 | | 1002 |3.17 | 25 PCRVO63/N130 | oo | 445 [ 9994 1242 40
PCRVO71/50 | o, 1a7 | 1095 [317] 30 PCRV063/130 537.5 |2.42 | 40
PCRVO71/63 | _ | 1140 |3.147] 30 1.1KW | PCRVOE3130 | ,, g 5624 1242] 50
PCRVO71/50 | 0 o 1 | 1423 317 40 PCRV063/130 | 6537 (242 50
PCRV071/63 | _ | 1474 |3.47) 40 _PCRVOB3N30 | . \on| g | 71245 1242 60
0.25kyy |-PCRVOT1/63 | ,oop| oo | 1695 347 50  PCRV0E3/130 - 7752 242 60 |
PCRVO71/75 | | | 1974 |3.17| 50 _PCRVOB3/130 | 00| o, | 9549 242 80
PCRVOTU63 | ,ono| 74 | 1799 1347] 60 _PCRV063/130 | 9259 |242 80
PCRVO71/75 | ~ | | 2141 317 60 PCRV083/130 | 242 | 58 | 1133.3 |2.42 100
PCRVOT163 | .| . | 2309 |347| 80 _PCRVOG3130 | 4, | .. | 6506 242 30
PCRVO71/75 | | | 2954 317 | 80 PCRV063/130 | | | 5666 |242| 30
PCRVO71/63 | ... i 2496 | 3.7 | 100 PCRVOB3/130 | geg | 445 | 7301 |242 40
| PCRVOT1/75 | 3215 |3.47 100 PCRV063/130 | | | 7329 |242| 40
PCRVO71/63 | oo, | 45, | 1483 347 25| | 1.5KW | PCRV063/130 | ,,, g | 9032 242 50
PCRVO71/75 | ‘ 161.2 |3.17| 25 PCRV063/130 | ‘ Y| 8915 242 50
PCRVO71/63 | o , 147 | 1087 |3.17] 30 PCRVOB3/130 | 1450 | gg |_1028.8 | 242 | 60
PCRV071/75 184.7 | 3.17| 30 PCRV063/130 | _ | 1057.0 | 242 60
PCRV071/63 217.7 | 347 40 PCRV063/130 | 1936 | 7.2 | 12626 242 80
- - 126-8 11 ! i 5 | et SN B
0.37Kw | _PCRVOT1/75 2341 (347 40
_PCRVO71/63 | ... | g5 | 2908 [317] 50
PCRV071/75 ) ' 2922 |3.47| 50
PCRV071/63 316.9 | 3.17 | 60
pervorieo | 02 T4 [Taae (347 60
_PCRVO71/90 | 2536 55 | 387.9 | 3.17) 80
PCRVO71/90 | 317 44 4347 | 317 100
PCRV080/75 | 75 18.7 2267 | 3 | 25
025K | ocRv0B0/7TS | 90 | 156 | 2598 | 3 | 30

GELUFU



Mo 5 X !
B == |
.ri\hl F= d-—E"_ ::@) f l
&/ G —— @ Z o
HGUONITIE 20 H
e ! ' h!@ ) = =
: I L1 e | !
|‘ _FE_|__|__!
- |
' G
M 2 | P A e L1
BB
-
' S b 1

fh
L
- &

PCRV A B [GC|C|[DH)][EMB ] F [ G [H [m]1 [L ] L[M[N]JOJP][Q]R
063/040 | 100 1215 70 | 60 | 18(19) | 60 | 43 | 71 | 75 | 365123 | 40 | 78 | 50 |71.5| 40 [ 87 | 55 | 65

063/050 | 120 | 144 | 80 | 70 | 25(24) | 70 | 49 | 85 | 85 (435|133 | 40 | 92 | 60 | 84 | 50 | 100 | 64 | 85
071/050 | 120 | 144 | 80 | 70 | 25(24) | 70 | 49 | 85 | 85 435|143 | 50 | 92 | 60 | 84 | 50 | 100 | 64 | 85
063/063 | 144 | 174 | 100 | 85 | 25(28) | 80 | 67 | 103 | 95 | 53 | 148 | 40 | 112 | 72 | 102 | 63 | 110 | 80 | 85
071/063 | 144 | 174 | 100 | 85 | 25(28) | 80 | 67 | 103 | 95 | 53 | 158 | 50 | 112 | 72 | 102 | 63 | 110 | 80 | 85
071/076 | 172 | 205 | 120 | 90 | 28(35) | 95 | 72 | 112 | 115 | 57 | 176 | 50 | 120 86 | 119 | 75 | 140 | 93 | 11
080/076 | 172 | 205 | 120 | 90 | 28(35) | 95 | 72 | 112 | 115 | 57 | 186 | 63 | 120 86 | 119 | 75 | 140 | 93 | 11
071/090 | 206 | 238 | 140 | 100 | 35(38) | 110 | 74 | 130 | 130 | 67 | 193 | 50 | 140 | 103 | 135 | 90 | 160 | 102 | 13
080/090 | 206 | 238 | 140 | 100 | 35(38) | 110 | 74 | 130 | 130 | 67 | 203 | 63 | 140 | 103 | 135 | 90 | 160 | 102 | 13

080(090)/110|252.5| 295 | 170 | 115 | 42 | 130 | — | 144 | 165 | 74 | 233 | 63 | 155 127.5|167.5| 110 | 200 | 125 | 14
080(090)/130(292.5| 335 | 200 | 120 | 45 | 180 | — | 155|215 | 81 | 253 | 63 | 170 147.5(187.5 130 | 250 | 140 | 16
PCRV s|T| Vv iPalPB]|PC| PE IPM |[PN| PO |PP (PO | b | t a | ar | kg |
063/040 | 26 |65 | 35 | 67 | 7 | 4 | MBx8(n=4) | 75 | 60 | 9(n=4) A 110 | 95 | 6(6) | 20.8(21.8) | 45’ | 45 | 3.9
063/050 | 30 | 7 |40 | 90 | 9 | 5 | M8x10(n=4) | 85 | 70 | 11(n=4) 125 | 110 | 8(8) | 28.3(27.3) | 45 | 45" | 5.2
071/050 |30 | 7 |40 | 90 | 9 | 5 | MBx10(n=4) | 85 | 70 |11(n=4) 125 | 110 | 8(8) | 28.3(27.3) | 45° | 45 | 5.8
063/063 | 36 | 8 | 50 | 82 | 10 | 6 | MBx14(n=8) | 150 | 115 | 11(n=4) | 180 | 142 | 8(8) | 28.3(27.3) | 45° | 45 | 7.9
071/063 | 36 | 8 | 50 | 82 | 10 | 6 | M8x14(n=8) | 150 | 115 11(n=4) 180 | 142 | 8(8) | 28.3(31.3) | 45' | 45 | 85
071/075 | 40 | 10 | 60 | 111 | 13 | 6 | MBx14(n=8) | 165 130 | 14(n=4) 200 | 170 | 8(10)  31.3(38.3) | 45" | 45 | 11.3
080/075 | 40 | 10 | 60 | 111 | 13 | 6 | M10x18(n=8) | 165 | 130 | 14(n=4) | 200 | 170 | 8(10) | 31.3(38.3) | 45 | 45 |13.1
071/090 | 45 | 11 | 70 | 111 | 13 | 6 | M10x18(n=8) | 175 | 152 | 14(n=4) | 210 | 200 10(10) 38.3(41.3) | 45' | 45° | 15.3
080/090 | 45 | 11 | 70 | 111 | 13 | 6 |M10x18(n=8) | 175 | 152 | 14(n=4) 210 | 200 110(10) 38.3(41.3) | 45" | 45' | 17.2
080(090)/110| 50 | 14 | 85 131 | 15 | 6 | M10x18(n=8) | 230 | 170 |14(n=8) 280 | 260 | 12 | 453 | 45 | 45 39
080(090)/130| 60 | 15 | 100 | 140 | 15 | & | M12x21(n=8) | 255 | 180 | 16(n=8) | 320 | 290 | 14 48.8 45' [225 522

i#: Wit (kg) FEFHLATAR

GELUFU



| B

i 1S / 8l & X/ E i

e EX

APPLICATION CASE

ML BIIRSE &8, GELUFUAESE R AL L LR T A M & SRS T izEH.
GELUFURBESEZEFPHASSHFTERERNEABATN LG, EERERENNEASE, HIEMNERAR
e+ B AR,

GELUFUMEERERAmREASAINEST—&, X—SEARNSAFPEETRFNSEREM, AMSBEFM
M, EEHKAKKEI%E.




i = %X i i 12 &5 #ll IS B IR A O

Gelufu Machinery Equipment Manufacturing Co. Ltd

ik (ADD) : jAdcefRE W4 (P.C) : 071000
& (TEL) : +86-312-6784766

£R (FAX) : +86-312-6784733
http://www.gelufu.com

E-mail: china@gelufu.com




